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Subject to:
Wy +wy w3 =1 (DA s sy dalall 1 55Y) 28)

6000 w; + 5000 wy + 8000 w3 = 6000 (1 z_>dl 23)

40 wy + 30w, + 10 w3 = 40 (2 z o>l 23)
450 w; + 400 w, + 300 w3 = 450 (3 z ool a)
12wy + 15w, +14w3 <12 E (1 Jaadll a5)
300 w; + 320 w, + 400 w3 < 300E (2 Jaadl a8)
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Optimal solution found at step: 4
Objective value: 'E
Branch count: 1

Variable Value Reduced Cost

A 59.00000 -20.00000

C 28.00000 -30.00000

Row Slack or Surplus Dual Price

1 2020.000 1.000000

2 1.000000 0.0000000

3 22.00000 0.0000000

4 0.0000000 0.0000000

2020 = cisgll A ; 4 jaa Sy (8

S1=1, S2=22 5(C=28) Al ssiall ¢ (A=59) Js¥ iall
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EUTI N X1 X2 51 52 il
51 2 1 * * 3
52 1 3 * * 4
Z -3 1 0 0 0
Ll o X1 X2 s1 s2 culill
52 3 0 * * 7
X1 1 ] * * 9
X2 3 0 * * 2
Z 0 1 * * 122
bl (alra Julas
g Al 34 A B C D
(Opdall) sl 22e 2 ] 4 il
bl gl s 4 ] ] 8
Lingo
Optimal solution found at step: -
Objective value: E
Branch count: 1
Variable Value Reduced Cost
A 59.00000 -20.00000
C 28.00000 -30.00000
Row Slack or Surplus Dual Price
1 2020.000 1.000000
2 1.000000 0.0000000
3 22.00000 0.0000000
4 0.0000000 0.0000000
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LR LR
100 1.00
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